202 1FE 556[H
kB8 7 57Xt
BAfER : 2021/7/2 (&)

o BRE I T7ERE BEILTE IN— T2
2’94 0 5 0 EDER 6,594 yds
i Rk iE

[=Hiva K£ g ouT IN TOTAL

1 2 X AAZ A~ 37 36 73
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3 W B P13 35 40 75

4 KEY fEiz RE 41 36 77

5 A sz il 39 38 77

6 BB &£ HEES 38 39 77

7 EBEE Rl FreEH = L 38 40 78

8 N R TAEE 42 37 79

B B i 40 39 79
PR BN FreEH = L 40 39 79
11 AR Ak p(11b%] 43 37 80
ik B# = BN 42 38 80
T BExR B R 40 40 80
Al BE B 37 43 80
15 B Bz I B A O 42 39 81
B BEfT TAY)—IR 42 39 81
£H EB —HBAK 41 40 81
i HE Y —> e IR 41 40 81
KB fE— =18 41 40 81
M B =18 39 42 81
BLE R -1 39 42 81
22 AT KHA —a—FvERIL 43 39 82
WE B [E=R AN 42 40 82
AT = SR 41 41 82
FEE B B8 R 41 41 82
TR ER E1EE 40 42 82
BA P EN 40 42 82
XE& TAY)—IR 39 43 82
29 AN SR e BB AN B2 42 41 83
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BB B BIEIR 40 43 83
38 N:: fi Ll ] 43 41 84
A F TH LA NRT A 42 42 84
BRiE f—ER 3= 42 42 84
o EEX Iz £ B8 42 42 84
LB R= P EA 42 42 84
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A BE TIER 41 43 84
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e = 2rEalR 40 44 84
A Ets BRE 40 44 84
AH 55 Wht o 40 44 84
=) 5= Bl 40 44 84
EAM FA B 39 45 84
SH O KE JILT7 5 HT M 38 46 84
53 BE E— BHE 0%hhH 45 40 85
FE FHE = v axln 44 41 85
MNEE E™ 37 42 43 85
M EE LA o7 —> 42 43 85
ZH O 3 41 44 85
58 K% 1IN BIHEIR 44 42 86
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HE A BA1H 44 42 86

L B4 A F— AR 43 43 86

KK 3 FIRDFR 42 44 86

JNFH  1ER EtTEE 42 44 86

HA  #ehs BRIk 41 45 86

=55 BE Iz &4t 40 46 86

65 BHF B LD AR 44 43 87
ER X3 pe(l1b%] 43 44 87

FR JT= Iz B [ B 43 44 87

A HESE BHE 0%hhH 43 44 87

BH R B&E 42 45 87

KEF ERE e BB AN B2 41 46 87
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&N BH CHIEH 41 46 87
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ZH R = vaxdn 45 43 88
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Al BX AR A 42 46 88

79 HE WA BE 47 42 89
ik e .5 L 46 43 89
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BHE K= Ak U 47 44 91
R EE (L8 46 45 91
BE B SERNIE=YE 44 47 91
AR —7fE tRZE 43 48 91
92 FEVS S mREER 46 46 92
R B SR 44 48 92
BUlS  HRIE oI ZTE 44 48 92
hE  @EF Xi8 42 50 92
MR EZ XF— R 42 50 92
97 YE R (IR 48 45 93
XF & R E B 47 46 93
e XE LB 46 47 93
R F= tRE 46 47 93
hi = —HBAK 45 48 93
102 gy B BE 49 45 94
=T JILT7 5 AT IHRHA 46 48 94
104 ERE =2 FRDOFR 54 41 95
ENTTI N TS 50 45 95
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107 BE RS R 49 47 96
108 EB HiE LA 7)) = 53 44 97
2EF £FH REI 46 51 97
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